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QUESTION 1

Ubiquitous access to cloud computing means:

A. access by any person

B. access by any device through any network connection
C. access by authorized personnel only

D. international access across country borders

Correct Answer: B

QUESTION 2

A hypervisor is unable to access its fibre-channel storage. Which of the following is the reason?
A. iISCSI initiator configuration

B. Obfuscation

C. LUN masking

D. Access control lists

Correct Answer: C

QUESTION 3

An administrator has created a VM on a new virtualization host and notices network speeds are significantly slower than
expected. Upon further review, the VM is using a legacy virtual driver for the NIC. Which of the following should the
administrator perform?

A. Change the default gateway to point to a faster router

B. Change the router port to support spanning tree

C. Install guest VM tools

D. Add an additional virtual NIC

Correct Answer: C

QUESTION 4
Which of the following is a disk interface type that has the BEST performance?

A. NAS
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B. SAN
C. SAS
D. SSD

Correct Answer: C

QUESTION 5

Which of the following detection controls can be used to identify an unauthorized individual who accessed a remote
network share?

A. Obfuscation
B. Authentication
C. Log review
D. LUN masking

Correct Answer: C

QUESTION 6

An administrator deployed a VM that is hosting an internal website. Users report they are unable to access the new
website. Which of the following should the network administrator do to test whether web traffic is being sent and
received?

A. Browse to any website

B. Ping the VM\\'s IP address

C. Ping the VM\\'s loopback address

D. Telnet to port 80

Correct Answer: D

QUESTION 7

Which of the following would be a deciding factor when choosing a multi-tenant cloud environment over a locally hosted
virtual environment?

A. Security
B. Cost of ownership
C. Litigation hold

D. Standardization
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Correct Answer: B

QUESTION 8

An employee is asked to run an instance of a Linux OS while booted up in a Windows OS. Which of the following types
of virtualization would be used to meet this requirement?

A. Type |
B. Type ll
C. Bare Metal
D. Native

Correct Answer: B

QUESTION 9

The network administrator creates a DNS A record. Which of the following tools can identify which IP has been assigned
to a FQDN?

A. arp

B. ipconfig
C. nslookup
D. tracert

Correct Answer: C

QUESTION 10

A Chief Information Officer (CIO) has established a budget for the IT department that allows for 30% of the company\\'s
IT infrastructure to be upgraded on an annual basis. The engineer in the IT department must identify which equipment
requires immediate attention for upgrades, which equipment can function in the near term, and which equipment can be
considered in the long term for upgrades. Which of the following describes the policy the engineer must develop?

A. Configuration management plan

B. System management plan

C. Asset maintenance plan

D. Life cycle management plan

Correct Answer: D
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QUESTION 11

A system administrator is testing various types of software within VMs on a local workstation while surfing the Internet
on a host. Which of the following BEST describes the hypervisor architecture that the administrator is using?

A. Type Il

B. Type |

C. Open source
D. Proprietary

Correct Answer: A

QUESTION 12

A new host has been bought to be a part of a new cluster. The purchase order specifies this server has four physical
CPUs with eight cores each. After the administrator boots the host, there are only 24 logical processors available for VM
allocation. Which of the following BEST describes this problem?

A. The server requires a firmware upgrade to version 8.2

B. The BIOS does not have virtualization support features completely enabled

C. The virtualization license is not the enterprise edition

D. A CPU is dead on arrival or disabled on the motherboard

Correct Answer: D

QUESTION 13

Which of the following is LEAST suitable for online storage platforms?
A.SSD

B. SAN

C.VTL

D. NAS

Correct Answer: C

QUESTION 14

An administrator has been tasked with reducing costs by consolidating a firewall, proxy server, and NIPS. Which of the
following risks does this change introduce?

A. NIC failure
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B. Disk failure
C. CPU failure
D. Single point of failure

Correct Answer: D

QUESTION 15

Which of the following cloud delivery models presents the LEAST vulnerabilities to a company\\'s existing network?
A. Hybrid

B. Community

C. Public

D. Private

Correct Answer: D
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